MEN’S Rating| Slope| |WOMEN’S Rating| Slope

Red/Blue/Silver Tees 676 | 117 Red/Blue/Yellow Tees | 66.6 | 117

Black Tees 69.7 | 127 Silver Tees 722 | 129
Blue/White/Silver Tees | 67.4 | 121 Blue/White/Yellow Tees | 66.9 | 115
Black Tees 701 | 127 Silver Tees 724 | 128
White/Red/Silver Tees | 67.2 | 119 White/Red/Yellow Tees | 67.1 | 115
Black Tees 69.8 | 125 Silver Tees 722 | 127

Date

Scorer

Attest

Rules of the Royal Canadian Golf Association govern all play except
where modified by local rules.

Local Rules:

#2 Red - If unsuccessful after (2) attempts to clear water hazard, ball may
be dropped to left of green in drop area. Player will be shooting 5.

#9 White - A ball striking hydro line or tower must be replayed. No penalty.
Courtesy of Play:

Golfers must be properly attired, shirts must be worn at all times. No cut
off jeans allowed.

No outside alcoholic beverages.
Each golfer must have own set of clubs.
Only two riders and two bags per power cart.

Slow players wave through faster players.

Please replace divots and repair ball marks. %

Acton Golf Club - Acton
Beaverdale Golf Club - Cambridge
Brant Valley Golf Club - St. George

Brookfield Country Club - Cambridge
Burford Golf Club - Burford
Calerin Golf Club - Erin
Canterbury Golf Club - Port Perry
Cedar Creek Golf Club - Woodstock
Conestoga Country Club - Conestoga
Dundee Country Club - New Dundee
Fergus Golf Club - Fergus
Foxwood Country Club - Baden
Grey Silo Golf Club - Waterloo
King’s Bay Golf Club - Seagrave
Mystic Golf Club - Ancaster
Orangeville Golf Club - Orangeville
Paris Grand Country Club - Paris
Scenic Woods Golf Club - Hannon (Glanbrook)

GOLFNORTH

www.golfnorth.ca

OXWOOD

COUNTRY
CLUB

P.O. Box 5142, Baden, Ontario N3A 4J3
1-888-833-8787
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Hep M/L 8/4 5/3
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